© cHICK

5RP-HAAS-00310

This workholding package is designed for
your HAAS HRT-160 machining center.

Workholding package includes all necessary
mounting hardware. Must be coupled with a Chick
Foundation that corresponds to your machine.

Notes CHICK WORKHOLDING SOLUTIONS, INC.

500 Keystone Drive « Warrendale, PA 15086 USA
Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com

Revised: 29-JAN-12 | HAAS HRT-160 00310.pdf | Page 1 of 12




© cHICK

DIMENSIONS
This workholding package is designed for
your HAAS HRT-160 machining center.
695 [27.36]
499.87 [19.68] 150 [5.91] =t
|(\ \)HQ”(\ \)||:||(\ \)HQH(\ \)l j ; [
T D | N ¥ 100(3.94]
75 [2.95] (GoaEr =) 75 [2.95] l
1 5 a ® - 1
f ) L <) ﬂi —- *
75 [2.95] p— — ! 75 [2.95]
1
* > |(\ \)ﬂ@”(\ \)lgl(\ \)u@ﬂ(\ \)l ¢ ||
418.8 [16.49]
508 [20.00]
| Q D H (@) ” [a D | — | Q D u (@) H Q D | 1 [0.43]
N R I — —> ] @ 11.995
’ © = © #11.987
I 2 ~ = o 18.5[0.73]
305 [12.01] [€CLIES = M12x1.75 1
200 [7,87] | [a D H [@) ” (@ D | O | [a D u [@) H [@ D | DETAIL I
95 [3.¢74] 33[1.30]
j U\ /U %I
30[1.18] (2) M12 (2) M12 (2) M12 ACCURATE
Notes CHICK WORKHOLDING SOLUTIONS, INC.
Machine travel may be limited by mechanical interference and/or machine safety zones. 500 Keystone Drive « Warrendale, PA 15086 USA
Please consult your machine’s operating instructions for more information. Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com
All dimensions are MM [IN]
Revised: 29-JAN-12 [ HAAS HRT-160 00310.pdf | Page 2 of 12




© cHICK

PALLET INTERFACE

5RP-HAAS-00310

This workholding package is designed for
your HAAS HRT-160 machining center.

DETAIL F
ADAPTOR PLATE
MOUNTING HARDWARE

(6 PLACES)

14mm
ADAPTOR \ T-NUT
PLATE M12 942-14-112
060-0123-102 SHCS
900-12-030
. — E—
|

= O,

3
O |

th

RISER
BLOCK
INTERNAL M12 060-0512-101
NUT STUD
011-0313-101 928-05-021
DETAIL G

THRU COLUMN SN 0NN VTN NN N D N VA M XN N T A XN DO\ XN NN NS
MOUNTING HARDWARE —
(4 PLACES) AN N N W N W . N — S N . W - -

Notes CHICK WORKHOLDING SOLUTIONS, INC.
500 Keystone Drive « Warrendale, PA 15086 USA
Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com

All dimensions are MM [IN]

Revised: 29-JAN-12 | HAAS HRT-160 00310.pdf | Page 3 of 12




© cHICK

MOUNTING
This workholding package is designed for
your HAAS HRT-160 machining center.
STUBSHAFT A
130-5001-102 M
900-05-050 DETAIL D
PILOT PLUG
DETAIL E
STUBSHAFT
PILOT PLUG
< 2 M 029-0350-101
Z05- 4% M6
900-05-025 dxMo
| | o | 900-06-016
SPACER
082-0315-103
Suae  — r——D) M12 NUT M12
Qi\ ] 934-12-001 WASHER
N 5 - 5 rﬂ 930-12-101
200mm = \,\}1\) - il M12
TA”-STCW i —— - . <) I STUD
== ] 940-12-050
(e — == "
@] —T0] U
@ DETAIL C
ROTARY
TN TABLE
MOUNTING
(2 PLACES)
DETAIL A
DETAIL B RISER BLOCK
RISER BLOCK LOCATING HARDWARE
DETAIL H MOUNTING HARDWARE (2 PLACES)
TAILSTOCK MOUNTING (2 PLACES)
HARDWARE
& SHIM PACK
SHIM
PACK
110-2-10001
2% M12 M12 ACCURATE
SHCS M12 BOLT
900-12-070 928-50-001

SHCS
900-12-045

Notes

CHICK WORKHOLDING SOLUTIONS, INC.
500 Keystone Drive « Warrendale, PA 15086 USA
Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com

Revised: 29-JAN-12 | HAAS HRT-160 00310.pdf | Page 4 of 12




© cHICK

SYSTEM 5 0520 ACCESSORY SETS

Batch Production

Machinable accessories are the optimal
solution for batch production. They offer
QwikChange™ and accurate repeat set ups
to optimize the productivity of the machine

center. Bottom View
of Faceplate
Note:

. Round and Diamond )
Machinable Locating Pins are Gri =
Faceplates machined in. rippers E

Dual Station
X Machinable
’ Jaw Sets ‘
Oversized Q’
T 080-2622-01 T

Standard ’ Oversized Gripper #3
080-2621-01 080-2502-01 Plain  005-2531
Serrated 005-2532

Standard (L-9mm x W-9mm x T-8mm)

080-2500-01 Gripper #4
. ) Plain 005-2541
Single Station Serrated 005-2542

Machinable (L-12mm x W-12mm x T-4.6mm)

Jaw Sets Gripper #5
< g Plain 005-2551
Serrated 005-2552

%’ . Coverplate (L-15mm x W-15mm x T-5mm)

@ T Gripper #6
. Plain 005-2561
8;33‘52;2(‘_01 Serrated 005-2562

(L-19mm x W-19mm x T-6mm)
Standard
080-2580-01
Standard
080-0313-21
Notes

Grey item is included with a standard system

CHICK WORKHOLDING SOLUTIONS, INC.
500 Keystone Drive « Warrendale, PA 15086 USA
Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com

HAAS HRT-160 00310.pdf | Page 5 of 12

Revised: 29-JAN-12 |




)
C\_C’ CHICK SYSTEM 5 0520 ACCESSORY SETS

Dedicated Fixturing

Machinable Faceplates provide
QwikChange™ dedicated fixturing and are
optimal for awkward or hard to hold parts.
A mini pallet changer can be created by
utilizing two Faceplates in tandem.

Machinable
Faceplates

3 =
= Qe

Standard
080-2625-01

CHICK WORKHOLDING SOLUTIONS, INC.
500 Keystone Drive « Warrendale, PA 15086 USA
Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com

Notes

Revised: 29-JAN-12 | HAAS HRT-160 00310.pdf | Page 6 of 12




7 )
© cHICK

SYSTEM 5 0520 INDIVIDUAL ACCESSORIES

QwikChange Machinable
Dual Station Jaws

QwikChange Machinable
Single Station Jaws

Individual Dual Station Jaws

Standard

A Moveable Jaw ............. 080-2511-01
(W49mm, H25mm

B Fixed Jaw.........c.cocueee 080-2551-01
(W49mm, H25mm

Oversized

A Moveable Jaw ............. 080-2512-01
(W80mm, H35mm

B Fixed Jaw.........c.cocueee 080-2522-01

(W80mm, H35mm

, L75mm)

, L36mm)

, L75mm)

, L36mm)

Individual Single Station Jaws

Standard
A Moveable Jaw ............. 080-2511-01

(W49mm, H25mm, L75mm)
B Fixed Jaw..........cc....... 080-2571-01

(W49mm, H25mm, L75mm)
Oversized
A Moveable Jaw ............. 080-2512-01

(W80mm, H35mm, L75mm)
B Fixed Jaw .........cc....... 080-2575-01

(W80mm, H35mm, L75mm)

Screws and Plugs

Dual Station
*Round Plugs: 3/8”
© <—— RNDP-375-RD1-025

? *Fixed Jaw Mounting Screws: M5x20
‘ SHCS-M05-020-012

Single Station
+Round Plugs: 3/8”
@ <—— RNDP-375-RD1-025
@ *Fixed Jaw Mounting Screws: M5x20
% : y SHCS-M05-020-012

*Round Plugs: 3/8”
RNDP-375-RD1-025

Notes

Grey or * item is included with a standard system

CHICK WORKHOLDING SOLUTIONS, INC.
500 Keystone Drive « Warrendale, PA 15086 USA
Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com

HAAS HRT-160 00310.pdf | Page 7 of 12

Revised: 29-JAN-12 |




7 )
C\_(:’ CHICI( SYSTEM 5 0520 MACHINABLE AREA

Dual Station Single Station

75 (2.95) 75 (2.95)
36
(o] 75 (2.95) (1.42) 75 (2.95) . 425 16 [,
7777777777777 ~ B - N o (1.67ﬁ(.63) I
| 5 i — i
X T | 32+ | [y 1 O —_— —
‘I 19 (-'75) L | | (1.26) ﬂ L ) A 32* (1.26) | | | ) EUS)
[— S E— : ERE i B :
18
J 15 -—45——J 15 M (_71)L D ‘21J
(59)  (1.77)  (59) (.83)
10
- (39) rf“\
- ¥ —
B [N ‘
A i e— @ — > N el 5 S — >
— m— ¥ - TS = F
8.50 105 8.5
\ (.33) (41) / \ (.33) /
Item Number Description A B C D Item Number Description A B Cc D
080-2500 Standard 49 (1.93) | 25(98) | 15(59) |8.5(.33) 080-2580 Standard 49 (1.93) | 25(98) | 15(59) |8.5(.33)
080-2502 Oversized | 80 (3.15) | 35 (1.38) | 30.5 (1.20) | 24 (.94) 080-2582 Oversized | 80 (3.15) | 35 (1.38) | 30.5 (1.20) | 24 (.94)
Notes CHICK WORKHOLDING SOLUTIONS, INC.
Grey area indicates no cut zone 500 Keystone Drive « Warrendale, PA 15086 USA
All dimensions are MM [IN] Phone: (724) 772-1644 » Fax: (724) 772-1633
Dimensions centered on the “A” dimension. www.ChickWorkholding.com
Revised: 29-JAN-12 [ HAAS HRT-160 00310.pdf | Page 8 of 12




SYSTEM 5 0520 JAW TRAVEL

© cHICK

Dual Station Single Station

MAX HOLDING MAX HOLDING
CAPACI

CAPACITY AND CITY AND
MACHINABLE AREA: MACHINABLE AREA- 14

5-0525 DUAL STATION 5-0525 DUAL STATION 5-0525 SINGLE STATION 5-0525 SINGLE STATION

FULLY CLOSED FULLY OPEN FULLY CLOSED FULLY OPEN
Iltem Number Description A Jaw Width Item Number Description A Jaw Width
080-2500 Standard 14 [0.57] | 49[1.93] 080-2580 Standard 14 [0.57] | 49[1.93]
080-2506 Oversized 2410.96] | 80[3.15] 080-2582 Oversized 24[0.96] | 80[3.15]

Notes

All dimensions are MM [IN]
Additional closure is available with an Extended Travel Coverplate.
Contact CHICK for details.

CHICK WORKHOLDING SOLUTIONS, INC.
500 Keystone Drive « Warrendale, PA 15086 USA
Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com

Page 9 of 12

Revised: 29-JAN-12 | HAAS HRT-160 00310.pdf |




7 )
© cHICK

SYSTEM 5 0520 SPARE PARTS

Multi-Lok Column
(4-Sided Double High)
082-4212 |

Multi-Lok Column
(6-Sided Double High)

Round Plugs: 3/8”
RNDP-375-RD1-025

—

* Top Hub Assembly
5MLEH24

Top Hub Mounting Screws: M5 x 50
SHCS-M05-050-012

Top Hub Assembly
5MLEH44

Gear Box Handle Seal Plug
GHSP-050-RD1-001

S

<—+ = Round Plugs: 3/8”
RNDP-375-RD1-025

ﬁ <+—— *Top Hub

Mounting Screws:
M5x30
SHCS-M05-030-012

* Round Plugs: 20mm

082-6212 — RNDP-020-RD1-025 S)
Input Gear
082-0504 ) S)
* Swivel Handle >
080-0900
Handle Seal Plug
* HDSP-050-RD1-001 (Red)
* HDSP-050-WH1-001 (White) >
* Slide Assembly @
080-0100-25
(See breakdown page 10) —» = Multi-Lok Co
5 «—— * Multi-Lok Column
* Standard Coverplate > 082-4211 Mug!;jL%k Column
080-0317-21 Q, - gsa 2 ! 62 “))
* QwikChange Q
Dual Station Jaw Set . ‘ @ ; * Label: CHICK Logo
080-2505-01 5LBL-11-001
Q
* Fixed Jaw Mounting Q
Screws: M5x20
SHCS-M05-020-012 ‘
| Q Q
* Round Plugs: 3/8” @V S ® ) Q @
RNDP-375-RD1-025 —» @f N . S T e
® ) ‘ * Locating Bushings Pallet Pilot Pallet Pilot Mounting
080-0362 Assembly Screws: M6x70
/ MPP50 SHCS-M06-070-012
* Rear Seal Plate
% (50 ~ Column Pilot Column Pilot Mounting
T RRSP-050-RD1-001 Assembly Screws: M6x16
. a/gn MCP40 SHCS-M06-016-012
FSCrearver * TWrench ’ 2%133-;%;3;-025
005-2401 080-03-010
Notes

Grey items are included with a standard system
For QwikChange™ Jaw accessories, see pages 4-6

CHICK WORKHOLDING SOLUTIONS, INC.
500 Keystone Drive « Warrendale, PA 15086 USA
Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com

Revised: 29-JAN-12 | HAAS HRT-160 00310.pdf | Page 10 of 12




7\
C\_C’ CHICK SYSTEM 5 0520 SLIDE ASSEMBLY

Complete Slide Assembly
080-0100-25 Third Hand Screw Assembly
080-0265 ————»

U-Cup Seal
080-03-003

Mounting Screws: M3x12
SHCS-M03-012-012

Slide and Screw Subassembly
080-0150-25

/&‘
D

Third Hand Block Assembly
080-0260

Spring Retainer Subassembly
080-0250

Notes CHICK WORKHOLDING SOLUTIONS, INC.

Grey items are included with a standard system 500 Keystone Drive « Warrendale, PA 15086 USA
Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com

Revised: 29-JAN-12 | HAAS HRT-160 00310.pdf | Page 11 of 12




7\
C\_C’ CHICK SYSTEM 5 0520 CLAMPING FORCE

Pounds (lIbs) Kilo Newtons (kN)

Force = Torque X Slope Torque | Force Force = Torque X Slope Torque | Force
Ibs - in-lb X 15 (ft-|b) (le) N - N-m X 590 (N-m) (kN)
lbs = ft-los X 180 0 0 kN = N-m X 0.59 0 | 00

2 360 4 2.4
4 720 8 4.7
6 1080 12 7.1
8 1440 14 8.2
10| 1800 18 | 106
12 2160 < 19 11.2
® 14 2520
3000 12 )
2500 ); 10
& 2000 o S8 ==
g 1500 ol :Lg 6 1 ol
w
o 1 2 7
§1000 / g 4 |1 =
< LT o |1
[$)
500 ] 2
0
0 0 5 10 15 20
0 5 Torque (ft-Ibs) 10 15 Torque (N-m)
Note: € Maximum Recommended Torque. Actual results may vary. Note: @ Maximum Recommended Torque. Actual results may vary.
Notes CHICK WORKHOLDING SOLUTIONS, INC.

500 Keystone Drive « Warrendale, PA 15086 USA
Phone: (724) 772-1644 « Fax: (724) 772-1633
www.ChickWorkholding.com

Revised: 29-JAN-12 | HAAS HRT-160 00310.pdf | Page 12 of 12




